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Complete the sentence by using a word from the following words : The cashier
the money and signed a receipt for it.

- A) Collects B) Accepts

C) Counted D) Receives

Choose the correct passive voice from the following sentences.
A) He was given a gift by Rita

B) He gives a gift by Rita

C) He gave a gift by Rita

D) He was giving gift to Rita

Choose the group of words which is most nearly the same in meaning as of the word :
Revolutionize

A) Affect adversely B) Develop gradually

C) Change drastically D) [luminate completely

Which is correct use of adverb ?

A) Honey is very sweet B) Honey is too sweet
C) Honey is so sweet D) Honey is much sweet

Which is correct use of preposition ?

A) She is married with rich man B) She married with rich man
C) She is married to a rich man D) She had married with rich man

She is working in an exclusive male dominate domain. How this sentence can be
written by removing gerund ? Select correct from following.

A) She work in an exclusive male dominated domain
B) She works in an exclusive male dominated domain
C) She worked in an exclusive male dominated domain
D) None of these are correct

Rewrite the sentence by using proper conjunction.

Mohan was young, he went to Africa.

A) But Mohan was young, he went to Africa

B) When Mohan was young, he went to Africa

C) That Mohan was young, he went to Africa

D) Hardly Mohan was young, he when went to Africa
5
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Choose correct Tense form that is used in the following sentence.

We had been playing in the park.
A) Past perfect continuous tense B) Past continuous tense
C) Present perfect continuous tense D) Past perfect tense

Select grammatically correct sentence.
A) Karachi is Sindh’s seaport B) Karachi is the seaport of Sindh
C) The seaport of Sindh is Karachi D) The Karachi is Sindh’s seaport

Which is correct use of verb ?

A) My brother lived in Mumbai since 1930

B) My brother has lived in Mumbai since 1930
C) My brother is lived in Mumbai since 1930
D) My brother have lived in Mumbai since 1930

Name the correct clause bracket in the given sentence.

He is (much) obliged to you.

A) Noun clause B) Co-ordinate clause

C) Positive adverb clause D) Adverb clause of reason

Name conjunction from the sentence :
Ganesh does not care whether his wife goes out of home.
A) Whether B) His C) Out of D) Care

Nothing else travels so fast as light (Make comparative and choose correct answer)
A) Light is traveler than any other thing

B) Light travels faster than anything else

C) Light is faster traveler than nothing

D) Light is travelers faster as anything

Pick up correct sentence.

A) When the meeting been start ? B) When the meeting would start ?
C) When the meeting will be starting ? D) When the meeting will start ?

Choose the word from given words to fill in the blank to make the sentence meaningful.

No sooner he arrived then everyone up in his honour.
A) Stood B) Stands
C) Stand D) Got

-6-
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61. Chemical used with the gypsum products to increase the setting expansion 18

C - 010-11

A) Citrates B) Potassium sulfates
C) Borates D) Ferric sulfates
A1 R e TSt Rem SeaterTEIS aTatd AUTR TR Hivid ¢
A) T B) Weifirm dethe
C) Wie D) W% dcthe
5 62. Lost wax technique was given by
A) Page B) Boucher C) Taggart D) Robert
i dad o hioft faet ?
A) U B) 3T C) I D) T

63. Inhibitor used in acrylic resin denture base material is

A) Hydroquinone B) Methyl methacrylate

C) Dibutyl phthalate D) Polymethyl methacrylate
hefien T SR o WTReaTHEd RV greielet AT TTd

A) TEGEEAH B) fense Rumhicte

C) SHYLRA Wice D) ufeftfiense fremhice

64. Finish line of choice for full metal crown is

A) Bevel B) Shoulder C) Feather edge D) Chamfer
ol &7 qepeTETS! THT {1 0T ?
A) faa B) @ial C) UG D) =R

( ;

L 65. Packing of acrylic denture base resin is done at stage.
A) Sandy B) Dough
C) Sticky D) Rubbery
Tehtefier Sor | WA= TohiT T TATAT Sl ST
A) tarE (FEh) B) €%
C) foere D) @l
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66. Direct retainers recommended for Distal extension partial denture is

67.

68.

69. Reciprocation in RPI clasp is achieved by

A) Reverse circlet clasp

C) Bar clasp

B) Circumferential clasp
D) Ring clasp

Teeeet vy ureffaer Seerd RTerE Fere eriEe fo SR ?

A) feed atrie w=im
C) SR A&

B) SHAHREge e
D) o1 aered

The lightness or darkness of an object is called as

A) Chroma

C) Value

FEIET TARI fShaT STV FEU 1Y 7
A)

C) 3

The zone of flame used for soldering is
A) Cold mixing

C) Partial combustion

HleS T aToRT AT SeTers 85
A) wice T

C) arefega

A) Lingual plate

C) Proximal plate

SR Hefiet HITRRI Fem- ST Bt ?
A) @ we

C) i e |
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B) Hue

D) Saturation

B) |
D) T

B) Oxidizing
D) Reducing

.

B) ISl
D) I BoR

B) I-bar

D) Minor connector of mesial rest

B) @-91
D) WIER el 3T Af¥ee e
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70. The term “Arcon” was derived by

71,

72.
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A) Bergstorm B) Bonwill
C) Hall D) Monsoon
AR G I STl R 7

A) T B) aHf
C) el - D) WRH

Porosities which develop in the casting when air is unable to escape from the mould
cavity

A) Shrink spot porosity B) Back pressure porosity
C) Hot spot porosity D) Cold spot porosity
HISCE thiced MY &1 STel YeU] T[] THeaTd SR I TRIRIEE qam &laTd ¢
A) sfieheaie TR B) e Jer drIfe '
C) Bl Wi PR/ D) whics Wi TRIfHd
The only component of the clasp assembly which lies below the height of contour is
A) Rest B) Reciprocal arm
C) Stabilizing arm D) Retentive terminal
I 3 Wiell STHAHT Fei €] ST =1 Ushid Heehlell il FEUIId ¢
A) & B) rienat 1w
C) Eforemstin ami D) Ria <fifte
. For the gold alloys the distance of the wax pattern from the open end of the casting ring
should be
A) 6 mm B) $mm
C) 10mm D) 12 mm
== fgegaTat SR forea e JehTargd o Y- Tat fohdt sramer &d ?
A) 6t B) 8 fudt

O) 10y | D) 12Tt
-13-
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74. The minimum distance required between the gingival margin and the floor of the mouth

for a lingual bar is

A) 5mm B) 6mm

¢) 7mm D) 8 mm

A) 5ot | B) 6 fusft

C) 7ot D) 8 forf

75. The die spacer is applied distance away from the finish line of the die.

A) 0.25 mm B) 0.5mm

C) 1 mm D) 1.5mm

ERICIREECE il e S T A .

A) 0.25 Tt B) 0.5 fidt

C) 1 fasft D) 1.5 fodt

76. Time deoendent plastic strain of a material under static load or constant stress is

A) Flow B) Sag
C) Creep D) Viscosity
Tt dte feha shiere W siaia ifeear ey SRiide wfers w2 Rt 7
A) T B) @m
C) shiu D) fewitgd
77. Irreversible hydrocolloids sets by reaction.
A) Gelation B) Chelation
©) Polymerization D) Crystallization
FYHHl TGl IseH IR EADER AR
A) e B) <ivM
C) UifeTerET D) SHREAMETH

.
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78.

LS

80.

81.

Dicor restoration is
A) Heat pressed ceramics B) Feldspathic ceramic
C) Castable ceramic D) Two coloured restoration
et teieH
A) g uTe e B) Weeuiefis s
C) T i D) 31 T Ry
The horizontal arm of which surveyor swivels
A) Ney B) Jelenko
C) Williams D) Wills
TIR e ST SATEaT B1d (BRiei-2e 37 ) hIvr ¢
A) A B) Sict=ahl
C) focfaa D) foea
The sprue former should be attached at what angle to the wax pattern ?
A) 45 degree B) 90 degree
C) 120 degree D) Any angle
o it S et R I ST 7
A) 453 B) 90 79
C) 120 3 D) AT A
Inlay wax is
A) Corrective wax B) Processing wax
C) Impression wax D) Pattern wax
Tl oG H TR 7
A) FEF I B) Wi dad
C) P D) et s
-15-
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The pontic which has mucosal contact is

A) Sanitary B) Ovate

C)I Peral D) Modified sanitary

Gi2ieh ST hiEel B0 &1 dl AT,

A) Hfieh B) 3fieee

C) e | D) ATEIHES Gl

Pickling of gold alloys is done by

A) Warm HCI B) H,SO, C) Cold Hf D) Sand blasting
IR HAETE ST 9T ohed STTd 7

A) 39T HCI B) H,SO, C) 98 Hf D) AT 3EhIET
Wet strength of gypsum products is calledas _ strength.

A) red B) blue C) green D) yellow
Nom SN e aewdar . Soehd] 3 R,

A) A B) @&t C) f&an D) fuaest

The finish lines of the dies are made more prominent for finishing the wax patterns by
A) Dimpling B) Ditching C) Pitching D) Patching
RSt AdmIE A e o STt S Saeefid seee SiTd.
A) feraetin B) fee=in C) fu=tin D) Ui

The height of contour of tooth is determined by

A) Undercut B) Non-undercut

C) Survey line D) Occlusal plane

QAT TR I I gt STd ?

A) A B) ATA-3Tetahe

C) §e AT D) Sieeqde i

-16-



‘0

AT OO

87. The property of drawing a metal into thin wires is known as

88.

89.

90.
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A) Ductility B) Malleability
C) Soldering D) Welding
T U163 TRAE FUTAR0T LU OIS e T3l TEUTATd ¢

A) efFeehd B) Haidfeefidt
C) |iesdin - D) 3IeEin
Rogue is oxide.

A) Tin B) Aluminium
C) Ferric D) Cadmium
T ARSI,

A) fA B) Tegftrm
C) Hi D) et
Missing unilateral posterior teeth belongs to which Kennedy’s classification ?
A) Class I B) Class II

C) Class III D) Class IV
ARiet ST GeAe I At afieomme shore anfa Idi ?
A) =i 1 B) T I

C) = I D) & IV

Complimentary colour to yellow is

A) Red B) Blue
C) Green D) White
et qees T ?

A) &E B) &t

C) R




C - 010-11 0 OO OO 0 '

91. Fabrication of dyes is done by using which gypsum product ?

A) Typel B) Type Il C) Type I D) TypelV |
TR Sl ToTe Ry IeaTET et oI 7 f
A) TR 1 B) &R 11 C) &R 111 D) &R IV J

92. The angle between the proximal surface of the abutment tooth and the occlusal rest seat is |

A) 90 degrees B) Less than 90 degrees |
C) 120 degrees D) More than 120 degrees ._I
gzt a7 ST oo T de e e EE T Rt |
A) 90 39 B) 90 TSI i
C) 120 3w D) 120 3FTHET SR
|
93. Squint test is done for selecting of teeth. |
A) Shade B) Shape C) Width D) Length "
fehe 3% g /aamEn fagwamardt Feft . |
A) T B) 37K C) & D) wsft :

94. Compared to dental alloys porcelain has |

A) High ductility B) High hardness
C) Susceptible to fracture D) Low aesthetics
S7d STeARre qerid Tidere |
A) ST sl B) SIT&d 2UTRYUTl |
C) Trevart gagefierdr D) i TerdiaE
95. Porcelain bonds with metal with bond.
A) Chemical B) Mechanical
C) Physical D) Both A) and B)
gIqared TdeH 59 ErE s
A) TarrHis B) I
C) sifew D) A) 3o B) It
-18-
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96. Cross linking agent used with acrylic resin is

A) Glycol dimethacrylate B) Methy methacrylate
C) Hydroquinone D) Benzoyl peroxide
GehTefTeh LEmraterd aToRTa UM shid fefehiT Ustwe #hiordi ¢
A) TSI SERYTHE B) fyum nurficre
C) BRI D) sige Te1Ee
o

97. Which of the following is not a surveying tool ?
A) Analyzing rod B) Guide plane
C) Carbon marker D) Wax trimmer
WicAteTdshl Ivd Hoe HTR I ATl
A) TreEEi e B) TS Wi
C) e 7T D) e Ji

98. The maxillary major connector used in case of palatal tori is
A) Complete palate B) Palatal strap
C) Lingual plate D) Horse shoe
Yoo I SATENUTHER FTHId AUTR Hagflordl HeR et v 7
A) T deie B) el ¥4 C) fenpsta wie D) &9 ¥

99. The major connector should be

A) Flexible B) Elastic C) Rigid D) Semi rigid
IS FaeT IR B4,
A) dateh B) dmOMm C) 2 D) 314 Ui

5 100. The process of removal of investment from the casting is

| A) Burnout B) Sand blasting C) Spruing D) Divesting

' FHILT T FroeTTHe HTEUATT Tkt i BT ¢

‘ | A) T B) st C) TR D) SHeEM
f
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D) T8 ZaYs1 hila 378
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14.

15,

010-22 0O O
W@TUTR B Y16€ Wiciedeh! ShIvedT Yehian 31 a1 faer ?

A) Toramg B) ferenfarsmson
C) =gt D) =g
. Qe AT Fadl ST a1a SHiEal.
A) faa 2foften aemas B) i1 atad
C) Ut East IHWET D) e STeEt Hdcdl

sruRdtd vTsaTe STd 3Te@l. - TS, g et foraefia gean .

INR i i B) Torafasise s/
C) = 37 D) haauanit 354
SIAT™ TR0t fhent - 1 arevamET ang 319 e

A) GHTIH 00 B) T THTHTH &0l
C) 9@ G0 D) @yEm
TECUT - AT AeAeh e Yeare] @icfierdeh 314 shivr ¢
INELEIUR I ez © B) oiwd SR %18
C) TH%S TSI H! D) @Y H1Eu
WreATAdeh! Uahae1 AT o ?

A) femm B) Il

C) @ D) W&

grofrer o<t araa 41 ATt S sieEr.

A) 3Tt il B) wWE

C) gt FHall D) aHvuft

g U9 ST -1 AT Il $A T 3Hies.
A) Gt FHadl B) 3T Fadl
C) st D) Y&
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16. Nothing else travels so fast as light (Make comparative and choose correct answer)
A) Light is traveler than any other thing
B) Light travels faster than anything else
C) Light is faster traveler than nothing
D) Light is travelers faster as anything

17. Pick up correct sentence.

A) When the meeting been start ? B) When the meeting would start ?
C) When the meeting will be starting ? D) When the meeting will start ?

18. Choose the word from given words to fill in the blank to make the sentence meaningful.

No sooner he arrived then everyone up in his honour.
A) Stood B) Stands
C) Stand D) Got

19. Complete the sentence by using a word from the following words : The cashier
the money and signed a receipt for it.

A) Collects B) Accepts
C) Counted D) Receives

20. Choose the correct passive voice from the following sentences.
A) He was given a gift by Rita
B) He gives a gift by Rita
C) He gave a gift by Rita
D) He was giving gift to Rita

21. Choose the group of words which is most nearly the same in meaning as of the word :

Revolutionize
A) Affect adversely B) Develop gradually
C) Change drastically D) Illuminate completely

22. Which is correct use of verb ?
A) My brother lived in Mumbai since 1930
B) My brother has lived in Mumbai since 1930
C) My brother is lived in Mumbai since 1930
D) My brother have lived in Mumbai since 1930

5.
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28.

29.

30.

010-22 0 Y A

Name the correct clause bracket in the given sentence.

He is (much) obliged to you.

Aj Noun clause B) Co-ordinate clause

C) Positive adverb clause D) Adverb clause of reason

Name conjunction from the sentence :
Ganesh does not care whether his wife goes out of home.
A) Whether B) His C) Outof D) Care

Rewrite the sentence by using proper conjunction.
Mohan was young, he went to Africa.

A) But Mohan was young, he went to Africa

B) When Mohan was young, he went to Africa

C) That Mohan was young, he went to Africa

D) Hardly Mohan was young, he when went to Africa

Choose correct Tense form that is used in the following sentence.
We had been playing in the park.

A) Past perfect continuous tense B) Past continuous tense
C) Present perfect continuous tense D) Past perfect tense

Select grammatically correct sentence.
A) Karachi is Sindh’s seaport B) Karachi is the seaport of Sindh
C) The seaport of Sindh is Karachi D) The Karachi is Sindh’s seaport

Which is correct use of adverb ?
A) Honey is very sweet B) Honey is too sweet
C) Honey is so sweet | D) Honey is much sweet

Which is correct use of preposition ?
A) She is married with rich man B) She married with rich man
C) She is married to a rich man D) She had married with rich man

She is working in an exclusive male dominate domain. How this sentence can be
written by removing gerund ? Select correct from following.

A) She work in an exclusive male dominated domain

B) She works in an exclusive male dominated domain

C) She worked in an exclusive male dominated domain

D) None of these are correct

-6-
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31,

32.

33.

34.

35.

36.

37

— I ) P DA NP0 P 00T % S 1 ————————— ) VA % VAV VSR 1 R A A T i A - - — e

T Hiskferek ST STAND 1 3768 FGNAQ T ferdiett 18 & el qgefi4 TROLLY &
3Tsc A1 foreTet ?

A) GYSBYL B) GEBYYL
C) GBEYLY D) GEYBLY

wreliel TfeThd THTIY 8IS YTohd Taaiel! HedT e T,
9¢0, 4Y, $30, 20¢, €L, 8¢

A) 230 B) %0l
C) ¢« D) &
et et ST e Wefien seme <o 2. 3T STée) 3 efte sre faore oe.

(e CIEECISCERAC T

A) RaN B) %¢aN
C) L&Y D) guaN
Qreiel ST ST SR ST e A5 7
LR3I |R | ¥
A RI'% g
e lal & ] ?
A) & B) &
O R D) R0
ST APTITUDE = 48 %633 ¥ § £ E¥E 91 3 TRURI Y 7
A) ALTITUDE B) ATTRIBUTE
C) ATTITUDE | D) el e ATl
T S e gatd wiat ueft
A) SISt B) Thd C) & D) HIS e
Telerteh) <R ureT TS disresl Ot ATt gt ?
A) Tl B) et C) AW D) &
Eg 5




C - 010-22 O O 0 0 e
38. WIeierieh! SBIoredT UMTE Ee==T U 318 Galeand 7

A) T % AT B) Y
C) I D) HEwm
39, @?ﬁaﬂ@ﬁwmmmaﬁtﬂmmmm?
A) 39 I-AHT B) sHcedl 31aEd
C) AT AT D) A YSd
40. ITSTAT HUATH T 33 HUh AT, Tdeh! Uk W AT
A) 91d B) @+
C) & D) 3

41. SRRIYTEUN + X — < T RWWL B @ * >= IR A= * x < > T FIVI T Fwifed 3R ?
A) ¥4l B) %3¢ '
C) ¢¥4e D) ¥ecuR

42. SI3¥ x B9 = &¥193 AND 2& x 4 = JEU] T ¥¢ x 9& =2

A) w¢gY B) (¥R
C) ¢ox¥s D) (a6
43. T Al ATITSTAT T WIcetish & 0ihgH el 9T ?
A) TRHHE B) Wia1 #g.
C) =ardq. D) RS

44. e, AuATdEN FF wfer Sem AR, SEET S 1FET Afead Fe o feaET S
IV A& SreTt ?

A) IR B) @&

C) Hrifsm D) 9%
45. T Fee s oo aeeif R 8 ?

A) &3 B) a%d

C) fereht D) e
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46. WA sAfacien afee Fim amm BIEM.
A) 317 B) i
C) Uit D) TR
47. @arefietieh faed ges e,
A) feEge B) @
C) et D) guu
48, T T GdyeE ST e T SRS Sl
A) & B)
C) =refiferen D) 33T
49. fgmm IS Bl
A) rrEtiEn B) fawmo
C) sferdia D) 3%
50. 3,33, 333,... AT \o 1 WAt foregd e srfist sl o o=t siesiefiet e S st

51.

A

83

_—

fobell At 7
A) 2% B) R0
C) 3% D) ¥

@rcfiedehl sHivren Uefty sfewd sfaet Fv[ gelud §iTd 7

A) 9SS B) e

C) IFd D) @gdie

TTURETET ST teT Tekare ot fehedt 31da ?

A) Yo THh B) ¢ Zah

C) 3 2Fh D) 3%%Fk
AT TETEATE AT Y G

A) HeHIfr 3fdie B) AR 3dlE

C) UIefIem urEe D) AERH-dE-FEMAe
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AcgIud AR uefi e Ea.

A) ftgrea B) =

C) Hg= D) IFare
I TfOTelt formrea 3R ol araed foet Y, e gEiviad deadaeer Fad

foama.

A) FIR B) sufied

C) THeHy D) fiesd

ST STt T S1eR T Ade 7

FH:dY : TNE 7

A) I B) @&

C) uva D) @2

A 9T fagd aferent qui #.

?0,60,240,?,ROO,GQ0

A) 380 B) 3¥o

C) 3R0 D) Roo

SeAfeRTeAT STt SR roTet Ee A 7

? ¢ R &Y Y4 3§

A) & B) 3

©) 3 D) ¥

TSATSTA 13 d1STct 3Ted. a1 et ufvem fen grafaa, at e swearh favg fean sord ?
A) 9FF B) I

C) gfeqm D) g

USHT T TTNT ALPHABETS 819162 €2 3% 8 4&lo¢. 3701 foreiett 31t at HEA L TH 219762 1
ferdidier ?

A) ¥ER%¥ B) ¥&2R0Y C) &Y D) ¥&%3wy
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61. Cross linking agent used with acrylic resin is

A) Glycol dimethacrylate B) Methy methacrylate

C) Hydroquinone D) Benzoyl peroxide

UehTetter Hodierd aTad o sid ferehi usie hlvrdT ?

A) TATIH T SHHATHIANL B) faumdemhice

C) TG D) sEiieet wiaeTse
62. Which of the following is not a surveying tool ?

A) Analyzing rod B) Guide plane

C) Carbon marker D) Wax trimmer

EIATAdhl 0T Hor TR 2 ATeY ?

A) G TS B) TEE wiH

C) e AT D) dad I
63. The maxillary major connector used in case of palatal tori is

A) Complete palate B) Palatal strap

C) Lingual plate D) Horse shoe

Tefeet 2T ISTETMEA SToRTd AR Hepgfiertt ST dhaet hivid ?

A) FeAte dete B) deied ¥4

C) ferrera wie D) & I
64. The major connector should be

A) Flexible B) Elastic C) Rigid D) Semi rigid

I3 T A Ed.

INKGEEIES B) dTUUTR C) T D) 374 2uk
65. The process of removal of investment from the casting is

A) Burnout B) Sand blasting C) Spruing D) Divesting

FIE A FooHE FTEUATEAT TishdelT 1 FEUIaTd ¢

A) T B) HesAm  C) T D) SEeREM

“11=
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66.

67.

68.

69.

70.

Chemical used with the gypsum products to increase the setting expansion is
A) Citrates B) Potassium sulfates

C) Borates D) Ferric sulfates

& forear areavamdt fwy SeaeATaTed aTad AR WA w7

A) TR B) Wiy dehe

C) @iz D) e dothe

Lost wax technique was given by

A) Page B) Boucher C) Taggart D) Robert
are ga a7 vt fod ?

A) TSt B) 3= C) &mé D) T
Inhibitor used in acrylic resin denture base material is

A) Hydroquinone B) Methyl methacrylate

C) Dibutyl phthalate D) Polymethyl methacrylate
Tgheleh {1 So 8 ATRTEA IV $-aleied AR S 7

A) BREIGEGAH B) faemse nemshicie

C) T Wicte D) uicfifaense fumshice

Finish line of choice for full metal crown is

A) Bevel B) Shoulder C) Feather edge D) Chamfer
T YTq TS FHTGA LT I ?

INREESH B) @ial C) '@ D) TR
Packing of acrylic denture base resin is done at stage.

A) Sandy B) Dough

C) Sticky D) Rubbery

Uit ot o e ki T ZURATAT ket ST

A) e (Feh) B) €%

C) fue D) @

{2

o WS v
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11.

72.

73.

74.

713.

Fabrication of dyes is done by using which gypsum product ?

A) Typel B) Type I C) Type 11l D) Type IV
21 ShslTehe hIvTe fSTeem IeareH et ST ¢
A) R ] B) 9l 11 C) YR 111 D) &R 1V

The angle between the proximal surface of the abutment tooth and the occlusal rest seat is

A) 90 degrees B) Less than 90 degrees

C) 120 degrees D) More than 120 degrees
Terpeiiz 3T A SATdeqaet 16 Hie e Hiaetive qupanHie i fhd 7

A) 90 3 B) 90 FSTdeqT FHHt

C) 120 391 D) 120 U ST

Squint test is done for selecting of teeth.

A) Shade B) Shape C) Width D) Length
feghe w2 araren /grarEh  faevamaTd! heft 9.

A) T B) T C) ¥ D) st

Compared to dental alloys porcelain has

A) High ductility B) High hardness
C) Susceptible to fracture D) Low aesthetics
e AT T TrHAA

A) S efaeefe B) SIT& ZUTequTl
C) HrewTH Haeasiierdr D) HHi tediad
Porcelain bonds with metal with ___ bond.

A) Chemical B) Mechanical
C) Physical D) Both A) and B)
g e Y ST,

A) TERHTE B) Al

C) wfe D) A)a1for B) el

13-




C - 010-22 V00 0 O 6 |

76. The height of contour of tooth is determined by
A) Undercut B) Non-undercut
C) Survey line D) Occlusal plane
AT AT It HI Hraedt S ?
A) e B) AH-3e@he
C) He e D) Adegae o
77. The property of drawing a metal into thin wires is known as
A) Ductility B) Malleability
C) Soldering D) Welding
HTqH T8 TRHE SUTGHUI 0TS OTERTCH 1ol FEUTdTd 7
A) fFd B) Heftfarciiel
C) diestin D) degin
78. Rogue is oxide.
A) Tin B) Aluminium C) Ferric D) Cadmium
Y IS 3Te.
A) foa B) Ufrfram C) Hi D) wegHtay
79. Missing unilateral posterior teeth belongs to which Kennedy’s classification ?
A) Class I B) Class II C) Class III D) Class IV
HIIet STEAT Gecie a1 el arffertomaes o amid Aa) ?
A) i | B) & I C) =i 11 D) Fi IV
80. Complimentary colour to yellow is
A) Red B) Blue C) Green D) White
et g Tt ?
A) @& B) fi=n C) féwmn D) diet
-14-
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81. Time deoendent plastic strain of a material under static load or constant stress is

A) Flow B) Sag
C) Creep D) Viscosity
e e fhar e 28 Haild arfeca 2y Sriuge wifees ¥ fodl 7
A) wN B) €1

,,. C) % D) f&eriad

1 82. Irreversible hydrocolloids sets by reaction.
A) Gelation B) Chelation
C) Polymerization D) Crystallization
Sl g SR ae .
A) FreRE B) <ATH
C) TferREEEH D) AT

83. Dicor restoration 1s

A) Heat pressed ceramics B) Feldspathic ceramic

C) Castable ceramic D) Two coloured restoration
feai Tty

A) g e i B) hoewifie RilHies

C) Treead e D) &F U™ TEReTH

84. The horizontal arm of which surveyor swivels

A) Ney B) Jelenko

C) Williams D) Wills

TR A ST e Bid (SRiet-ea 31 ) HIvwT ?

A) A B) SiA=hi

C) focfiaw D) faem
&
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86.

87.

88.
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The sprue former should be attached at what angle to the wax pattern ?

A) 45 degree B) 90 degree

C) 120 degree D) Any angle

T HHL T Ferten feheft ITHE TSR §d ?

A) 4539 - B) 90 A

C) 120 37w D) HERFH

Porosities which develop in the casting when air is unable to escape from the mould
cavity

A) Shrink spot porosity B) Back pressure porosity

C) Hot spot porosity _ D) Cold spot porosity

T3S Hhisee MY BT et TS0 Yo e HETHes Shivi Trfdie R 2iard ?

A) e wie Ty B) ek IR MOIfEE

C) gewieaufad D) #ies T N

The only component of the clasp assembly which lies below the height of contour is
A) Rest B) Reciprocal arm

C) Stabilizing arm D) Retentive terminal
AT I WAl STed Feieq STieI=a1 Ui HeehTel 1 FeUiaT ?

A) & B) et 31

C) Eferemsfin s D) Wia fila

For the gold alloys the distance of the wax pattern from the open end of the casting ring
should be

A) 6 mm B) 8 mm C) 10 mm D) 12 mm

at=rrT firsregeTa) i Rre e STy Jog Yo siat fredt sTmen 2 7
A) 6Tt B) 8 fimft C) 10w D) 12 forft

-16-
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89.

90.

91.

92.

The minimum distance required between the gingival margin and the floor of the mouth
for a lingual bar is

A) Smm B) 6 mm

C) 7mm D) 8 mm
forgare st fetfsraet afsta snfor dieren qure wwrame frm frdt st savae smed 7
A) 5ot B) 6 faedt

C) 7 D) 8 fift

The die spacer is applied distance away from the finish line of the die.
A) 0.25 mm B) 0.5 mm

C) 1 mm D) 1.5mm

A) 0.25 fft B) 0.5 i

C) 1foudt D) 1.5 foft

Inlay wax is

A) Corrective wax B) Processing wax
C) Impression wax D) Pattern wax

T o HIF TR 7

A) FE T B) wari dad

C) 3UYH dad D) WA g

The pontic which has mucosal contact is

A) Sanitary B) Ovate

C) Peral D) Modified sanitary
A T B H S .

A) e B) &2

C) W . D) HigiwEes H-Hed
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93.

94.

93.

96.

010-22 A

Pickling of gold alloys is done by

A). Warm HC] B) H,SO,

C) Cold Hf D) Sand blasting
BT e ST T 351 ST 7

A) 351 HCI _ B) H,SO,

C) 98 Hf ‘ D) a1 Icehied
Wet strength of gypsum products is called as strength.
A) red B) blue

C) green D) yellow

oregm SeareTen e St FEh! Y FRUITA.
A) @& B) =

C) fewn D) fiEe

The finish lines of the dies are made more prominent for finishing the wax patterns by

A) Dimpling B) Ditching

C) Pitching D) Patching

STESTe efH @ 3 g e T ST ST Saeefid sHaet ST,
A) Teroefin B) fezin

C) foeln D) el

Direct retainers recommended for Distal extension partial denture is

A) Reverse circlet clasp B) Circumferential clasp
C) Bar clasp D) Ring clasp
forea ey uefiae Serast firwre e e fea o ?
A) Tregd wERte e B) HTHARAA FAed
C) sRFe D) T &

-18-




| A O A - C-010-22

97. The lightness or darkness of an object is called as

A) Chroma B) Hue
C) Value D) Saturation
SR EeThuUT AT STTRIT RS T ?
A) S B) ®

| C)Fe DR

“ 98. The zone of flame used for soldering is
A) Cold mixing B) Oxidizing
C) Partial combustion D) Reducing
TieeTHIS! aToa A0 Sarers & IR,
A) Fice fuain B) ataeiEis
C) srdgeA D) &HlEvm

99. Reciprocation in RPI clasp is achieved by

A) Lingual plate B) I-bar

C) Proximal plate D) Minor connector of mesial rest
sTdteT wefter Yisis e e 9T Bl ?

A) forge@ <e B) -9

C) Wierimat < D) TR e 3T AfyRd &

100. The term “Arcon” was derived by

A) Bergstorm B) Bonwill C) Hall D) Monsoon

“re & T Ty ST A ¢

A) sief B) dHfaet C) & D) "G B
(0
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16. Rewrite the sentence by using proper conjunction.
Mohan was young, he went to Africa.
A) But Mohan was young, he went to Africa
B) When Mohan was young, he went to Africa
C) That Mohan was young, he went to Africa
D) Hardly Mohan was young, he when went to Africa

17. Choose correct Tense form that is used in the following sentence.
We had been playing in the park.
A) Past perfect continuous tense B) Past continuous tense
C) Present perfect continuous tense D) Past perfect tense

18. Select grammatically correct sentence.
A) Karachi is Sindh’s seaport
B) Karachi is the seaport of Sindh
C) The seaport of Sindh is Karachi
D) The Karachi is Sindh’s seaport

19. Nothing else travels so fast as light (Make comparative and choose correct answer)
A) Light is traveler than any other thing '
B) Light travels faster than anything clse
C) Light is faster traveler than nothing
D) Light is travelers faster as anything

20. Pick up correct sentence.

A) When the meeting been start ? B) When the meeting would start ?
C) When the meeting will be starting ? D) When the meeting will start ?

21. Choose the word from given words to fill in the blank to make the sentence meaningful.
No sooner he arrived then everyone up in his honour.

A) Stood B) Stands C) Stand D) Got

22. Which is correct use of adverb ?
A) Honey is very sweet
B) Honey is too sweet
C) Honey is so sweet
D) Honey is much sweet
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23.

2.

235.

26.

27

28.

29.

Which is correct use of preposition ?
A) She is married with rich man B) She married with rich man
C) She is married to a rich man D) She had married with rich man

She is working in an exclusive male dominate domain. How this sentence can be
written by removing gerund ? Select correct from following.

A) She work in an exclusive male dominated domain
B) She works in an exclusive male dominated domain
C) She worked in an exclusive male dominated domain

D) None of these are correct

Complete the sentence by using a word from the following words : The cashier
the money and signed a receipt for it.

A) Collects B) Accepts
C) Counted D) Receives

Choose the correct passive voice from the following sentences.
A) He was given a gift by Rita

B) He gives a gift by Rita

C) He gave a gift by Rita

D) He was giving gift to Rita

Choose the group of words which is most nearly the same in meaning as of the word :
Revolutionize

A) Affect adversely B) Develop gradually
C) Change drastically D) Illuminate completely

Which is correct use of verb ?

A) My brother lived in Mumbai since 1930

B) My brother has lived in Mumbai since 1930
C) My brother is lived in Mumbai since 1930
D) My brother have lived in Mumbai since 1930

Name the correct clause bracket in the given sentence.

He is (much) obliged to you.
A) Noun clause B) Co-ordinate clause
C) Positive adverb clause D) Adverb clause of reason
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36.

37

31

32.

33

34.
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30.

Name conjunction from the sentence :
Ganesh does not care whether his wife goes out of home.

A) Whether B) His C) Out of D) Care
A ST qieel M 91 BEM.

A) & B) 2fihic

C) Uifeiet D) &
wicfierteh! forama u2eh 3N r.

A) fEde B) @Uh

C) ifean D) =
YeRTSITE TTd G FISTuaT= 7T 1 IS S STl
A) A B) W

C) wrefiferst D) 3MEEA
femm W@l

A) M B) fammoy

C) sifereli™ D) 3MEiest

3,33, 333, AT (o Faa1 T Forge carrelt SHSt Shef) ot A0mT=2aT Siesieftet Hel SfehT=il silist
fopelt 5@ ?

A) R B) Ro

C) D) ¥

AR ST} SRIOTaT 318R 698 A5 7

FEC A TS : 7 :

A) TH B) =i C) avd D) @2
I vt fAag mrfersRt qui .

Qo,co,ﬁ‘(,o,?,h.co,sto

A) 3%o B) 3¥o

C) 3o D) 300
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38.

39.

40.

41.

42.

43.

44.

45.

AR S v g e 7

? ¢ v &Y 134 398

A) & B) 3
(o S D) ¥

HETGTA 3 ATSTed 3Ted. T hiel ufvem fesn erafaa, @ e s foreg fwm o 2
A) T B) T

C) afeqmr D) 3

THT Hich{coh T ALPHABETS 81168 €3 3% 8 4 \s¢ 37T foreien 3ifiet at HEAL TH &1 912 &1
fordidie ?

A) ¥ERRY B) ¥&2u¥

C) ¥&¥oY D) ¥&23uwy

Al TRt wata widt geft

A) 53 B) ¥

O &A D) W3 Ae

WA TeTdehT HIvTeT TS disesr Seffar Trer et ?

A) TR B) wHiall

C) T D) %

el deh ShIvTeT T “Srae U’ 318 Halerard ?

A) TITET Sheh T B) Hftrama

C) ekl D) Her

GTCfeThl IV ST ST YTehge SITiaR R arer gedt ?
A) 3W AT B) ST AL
C) ueieaT Faeeq D) 3T ST
IS4 hUAT THYT 33 WO AT, et Ttk HTHd 31T
A) 9 B) dH

C) au D) 3%
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46. T Wikt TN STAND &1 3s8 FGNAQ 311 fordiell 318 @ &< 9gdH TROLLY &
yiee 41 forate 7
A) GYSBYL B) GEBYYL
C) GBEYLY D) GEYBLY

47.

48.

49.

50.

51.

Qe TTfeTahd AHTIY B9 Yhd T8l G AT,
8¢0, WY, 830, 20¢, €L, \9¢ '

A) %30 B) 2o¢
Q)¢ D) &

e T TSR o foran et erirea <hue 2. ST T 9 et S reT foure 3.
W YA ST 9 fohet ?

A) 2R B) tcam

C) & D) gt«aﬁ
Wreltel SehiTd Y raTeT ST shivTdt S d5a ?

R3[| ¥

¢ T

o le¢|u]|?

A) & B) 28& 0 R D) R0

SR APTITUDE = 4€ %033 T L &&¥E 613 TEUN d
A) ALTITUDE |

B) ATTRIBUTE

C) ATTITUDE

IDEIEEIEINCHEIH]

TR TEN + X - <F R¥GC R @ % >= IR A = * X <> AT PR T aifaiett 371e 7
A) ¥4 B) ¥ue¢
C) R4 D) WeluR
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2.

3%

54.

a5,

56.

.

58.

59.

60.

ST IY X &9 = §¥V3 AND 28 x 34 = 642 GU YL X & =2
A) oCEY B) WC¢¥E C) ¢9xs D) ¢ty
ST e R0 10 W icieh! S 1vehe Fol ST ¢
A) TEHHG B) HiaT Hg C) = D) JarRs]
31, HEATET i afear deE R, smETn 9= A ufRe e 9t A 5
FI0TIT Hig=ATd ST ?
A) ¥R B) &mEv C) Tmifem D) U3
Frewmt qisresn Ui faues aefiad F13 8 7
A) &3 B) IFd C) foe D) e
Qrefferiehl Sivfe Toff sfeuet siaet Fev[ daraa 3T 7
A) AUES B) wftar
C) aFd D) w@gdie
HIOTHT=AT SR e 9910 foheft a7 ? |
A) ¥o Ta% B) ¢ T& |
C) 13 7% D) 3% |
AT TETEETE S 38 ST |
A) FeRgieh 3HTe B) R 3fdie
C) WfeIsm qrARe D) HEEH-aE-FEHE
ATCATITE T RS Yefieht g 2.
A) gafdEreT B) =TEEeeT
C) Hg=a D) Fgare
AT et e SR o arae f ), e gatied daadeEn Faa
A) FIH B) #ufisy
C) Wiy D) fiesd

-10-
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61. Time deoendent plastic strain of a material under static load or constant stress is

A) Flow B) Sag
C) Creep D) Viscosity
Wik die fehal si-e=e WH iaria aifecims 25y SHiuee wiftes € fhdt ?
A) Wl B) T
C) %M D) feewrifadt

62. Irreversible hydrocolloids sets by reaction.
A) Gelation B) Chelation
C) Polymerization D) Crystallization
Sl TGRSR 82 A
INREEE! B) S@¥H
C) iRy D) $RARZA

63. Dicor restoration is

A) Heat pressed ceramics B) Feldspathic ceramic

C) Castable ceramic D) Two coloured restoration
fewit {item

A) e Jee faildiaa B) Weewiefis i

C) Freea fatfies D) 3 T {RERyE

64. The horizontal arm of which surveyor swivels

A) Ney B) Jelenko

C) Williams D) Wills

ToR Aol el ATedT gl (Bileri-ear 3md) vt ?

A) 3 B) Sici=hl

C) Tocfrea D) faea
1L
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65. The sprue former should be attached at what angle to the wax pattern ?

A) 45 degrcé B) 90 degree

C) 120 degree D) Any angle

T Wit o et el e Srere 7 7

A) 45 3 | B) 90 7%

C) 120 3% D) HIVar! &
66. The height of contour of tooth is determined by

A) Undercut B) Non-undercut

C) Survey line D) Occlusal plane

AT SRR I FHIM Flgedt T ?

A) e B) Al-3AShe

C) "ot A D) ffaegad i
67. The property of drawing a metal into thin wires is known as

A) Ductility B) Malleability

C) Soldering D) Welding

YTl e ARAEH FUTCRYT HLUAT=AT oIl 1 FeurdTd 7

A) SfFesfid) B) Werdforefidl

C) Aeetin D) aeeim
68. Rogue is oxide.

A) Tin ' B) Aluminium

C) Ferric D) Cadmium

T H1EE 3.

A) o B) Teyfifem

C) W% D) FgHtam

-12-
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69. Missing unilateral posterior teeth belongs to which Kennedy’s classification ?

A) Class I B) Class II
C) Class III D) -Class IV
ATl YA qeeiel 3 Fae) arffertommed sivren aufa ay ?
A) ] B) =t II

. C) & 111 - D) & Iv

13

70. Complimentary colour to yellow is

A) Red B) Blue
C) Green D) White
TaemaTdt g 1 v ?

A) AT B) &
C) f&an D) Uieq

71. Cross linking agent used with acrylic resin is

A) Glycol dimethacrylate B) Methy methacrylate
C) Hydroquinone D) Benzoyl peroxide
Ushicfieh Wi aTod A0 i forehin use shivrar ?

A) WIHA SEHATRTIE B) fior Aurshice

C) TAGHHM D) Seilet wiTES

72. Which of the following is not a surveying tool ?

A) Analyzing rod B) Guide plane
C) Carbon marker D) Wax trimmer
GIeATeTdeh! HIUId Heg HOM I& ATE ?

A) Ui U B) EE WA

C) e A& D) dq I

-13-
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13.

74.

5.

76.

77.

The maxillary major connector used in case of palatal tori is

A) Complete palate B) Palatal strap

C) Lingual plate D) Horse shoe

deieel SR ISTETuHER aTutd AU Hagfier Ae FHedet Hiva ?

A) Fefie dote B) Hefed ¥4

C) fomera wie | D) &

The major connector should be

A) Flexible B) Elastic C) Rigid D) Semi rigid
S FHet I 7.

A) dI=tH B) @O C) T D) A4 20k

The process of removal of investment from the casting is ;
A) Burnout B) Sand blasting C) Spruing D) Divesting

HTEIT AT FoetHe FIGUATSAT Tishaell 1 TEUIdTd 7
A) 3T ~ B) HesAEm  C) T D) sEREm

Direct retainers recommended for Distal extension partial denture is

A) Reverse circlet clasp B) Circumferential clasp
C) Bar clasp D) Ring clasp

fetea waadm unflad Sownd) firerE Sodt srrEe fRa S ?

A) Tegd ataeie Foied B) GTHTHRIAA Fe
C) IR FiH D) far st

The lightness or darkness of an object is called as

A) Chroma B) Hue C) Value D) Saturation

FEIET EARUN TR SURIUN RN w7

A) & B) g C) g D) d=qEH
-14-
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78. The zone of flame used for soldering is

A) Cold mixing B) Oxidizing

C) Partial combustion D) Reducing

HieeimTd AT Jum=a1 e &3 .

A) i foedi B) Sttt
C) a1 @& D) st B

{

79. Reciprocation in RPI clasp is achieved by

A) Lingual plate B) I-bar

C) Proximal plate D) Minor connector of mesial rest
ARt Heffet UTTHTH R T 8id ?

A) fergarat wie B) -7

C) vrefivd < D) HRIFR FHAael 3% AfRe &

80. The term “Arcon” was derived by

A) Bergstorm B) Bonwill
C) Hall D) Monsoon
“ormenta’ & T IR ofTet IR 7

A) e, B) e
C) & D) HIgA

81. Fabrication of dyes is done by using which gypsum product ?

A) Typel B) Typell
C) Type 11 D) Type IV
ST Wiy hIvTe fram e Fet S ¢

A) THR 1 B) &R 11

C) SR III D) YR IV

8-




C - 010-33 0 D O A

82.

83.

84.

85.

86.

The angle between the proximal surface of the abutment tooth and the occlusal rest seat 1s
A) 90 degrees B) Less than 90 degrees
C) 120 degrees D) More than 120 degrees
Yeeife ara ST STieegda T Hie A= Nids e aehaweiet i fdi 7
A) 90 W B) 90 3rSIue
C) 120 A | D) 120 AT S
Squint test is done for selecting of teeth.
A) Shade B) Shape C) Width D) Length
A) T B) 3TN C) dl D) @rsft
Compared to dental alloys porcelain has
A) High ductility B) High hardness
C) Susceptible to fracture D) Low aesthetics
2T AT A T
A) SR gfgeeftdt B) W& ZUTERYUT
C) TrevaTe ARl D) it Teddiad
Porcelain bonds with metal with bond.
A) Chemical B) Mechanical
C) Physical D) Both A) and B)
HIqHIed T 99 e I7YATd.
A) THRHI B) Hifae
C) sitferen D) A) 31fir B) 3t
Inlay wax is
A) Corrective wax : B) Processing wax
C) Impression wax D) Pattern wax
T JE F AR 7
A) FFHS 99 B) WieEt e
C) T T D) ted Jad
-16-
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87. The pontic which has mucosal contact is

A) Sanitary B) Ovate
C) Peral D) Modified sanitary
qi-2ieh ATl TehIad H9eh 318! al AR,
A) gt B) 3leee
C) W D) widiege Ffel
=P 88. Pickling of gold alloys is done by
A) Warm HCl B) H,SO, C) Cold Hf D) Sand blasting
Hreare fseTs STrerTe FEm e SR 7
A) 391 HCI B) H,SO, C) 98 Hf D) aTeg ScEhIeH
89. Wet strength of gypsum products is called as strength.
A) red B) blue C) green D) yellow
foreom IcaTeT=AT ST SR Il B! I TEUIAT.
A) A B) faea C) fetan D) fugest

90. The finish lines of the dies are made more prominent for finishing the wax patterns by

A) Dimpling B) Ditching C) Pitching D) Patching
SRSt M YA X ved gy e S Saeefid sHae Sid.
A) feredin B) fezin C) fu=fin IDREL

91. Porosities which develop in the casting when air is unable to escape from the mould

cavity

A) Shrink spot porosity B) Back pressure porosity

C) Hot spot porosity D) Cold spot porosity

T3ee iR BaT et UST Y T FRATHE HI MU TR Eawd ¢
A) i Tie TfaH B) e YR ARG

C) &fe Tie My D) ®icg T TR

S

dsl  LIAdLIKNIIAUAdDCTNS I/
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92.

03.

94.

g3.

N A ‘

The only component of the clasp assembly which lies below the height of contour is
A) Rest B) Reciprocal arm

C) Stabilizing arm D) Retentive terminal
FIECHT 39 Giefl AT Fie] ST o1 Uehld HIShTeT 1 FRUMTd ¢

A) W B) iftrmeretr 3

C) Wit s D) R efifre

For the gold alloys the distance of the wax pattern from the open end of the casting ring
should be

A) 6 mm B) 8 mm

C) 10 mm D) 12 mm ,

T fusgengardt s e gean S g9 Yede fat fordt sramen & ?
A) 6 Tt B) 8 furft

C) 10 fuft D) 12 fasft

The minimum distance required between the gingival margin and the floor of the mouth
for a lingual bar is

A) 5 mm B) 6 mm

C) 7 mm D) 8 mm

fomgerer st fifsrarer wfsta snfor diern gure s o S fadt Siat smmavas o |
A) 5 fosft B) 6 Tt

C) 7 fusft D) 8 furdi

The die spacer is applied distance away from the finish line of the die.
A) 0.25 mm B) 0.5 mm

C) 1 mm D) 1.5 mm

A) 0.25 Tt B) 0.5 fasf

C) 1 fuft D) 1.5 fueft

wE
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96. Chemical used with the gypsum products to increase the setting expansion is

A) Citrates B) Potassium sulfates
C) Borates D) Ferric sulfates

G foram areavaTaS! ey SeareEIeg aTad AR TR FHI0d 7
A) HRIgE B) eifimm dethe

C) s D) & acthe

97. Lost wax technique was given by

A) Page B) Boucher C) Taggart D) Robert
A Fa a3 mof) o ?
A) IS B) S8 C) e D) T

98. Inhibitor used in acrylic resin denture base material is

A) Hydroquinone B) Methyl methacrylate

C) Dibutyl phthalate D) Polymethyl methacrylate
Ugheiieh {HF So o8 IRATEY IV SEIeIet JTRe ST ¢

A) TEGIHRAH B) fhemsa Hamhiciz

C) SR Wiete D) uicffemge faemshicte

99. Finish line of choice for full metal crown is

A) Bevel B) Shoulder C) Feather edge D) Chamfer

qut ¢Tq YepeTaTa! UGt T hivrd! ¢

A) fsda B) @ral C) @ D) dFH
100. Packing of acrylic denture base resin is done at stage.

A) Sandy B) Dough C) Sticky D) Rubbery

Tshiciieh Sor o9 e dehim 1 TRATAT shed M.

A) e () B) €% C) fae D) Wl

-19-
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1. GreATeadeh] Teharat 90 I 7
A fem - B) T
C) T D) &

2. GRHTE A€t ATeTa AT AR TN ST,

A) HE FHl B) W
C) HehHeh FHadl D) shHuft
3. HR UI9E 38T AT TR Il YA ST,
A) TehHE FHadl B) SThtes hatl
C) shHoft D) 9@
| 4. Gl ATt STqut wirsarehTest aTe afiew.
\ A) 3TTEH YT el 3T B) 3TE 3aqST htid et
C) 3713 YT il e D) 3T YT I 3712
5. @TUTR &1 Y168 GTefiedeh! shivTedt Yehiean o718 ) ferer ?
A) TR B) oo
C) sgafed D) g
6. TTeiie TR il ST a7 3.
INRGER: EUSIEIGIER B) #urm sied
C) WTEUATH! s ST D) HigEA STt gaed

7. MAET TR Uhegel I1 TR T SiesaEl.
A) Fat B) wuft
C) W D) a7t FHad

8. AT IR AW HAR AT TR Tsramaer=n 27¢f shivrar ?
A) Heharef B) oTamed
C) @ D) faeaef
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9. relierieR T S o ? -
A) = 20 —ehufies e B) ShITEIES FT01-geiel 0l

C) TTE) S0 T D) 3T A0 -STSU-ATal
10. @reiierdeh) SN T158 e,

A) e B) i

C) JA D) 2

11. Ereliereh FfTauo stemaeH Iee Alal.
A) STt B) WAl
C) T3 D) Mal

12. ITEHCIEIT gl € SehHIH I6q HIVTHIS! ATILdTd ?
A) arfeer fogm Ao
B) fer q@ HIv™
C) stfaem = A
D) afarer sfiea HoE

13. sreidia sreaTeh ST sieEr. — HA, 9 @t ftaetia gean fmm.
INRIE e e B) fernfessa s
C) AT Y D) eyt 31

14, SreAm U e - a1 e A 3 e

A) FETEH 01 | B) UTE HHTEM 2101
C) JudTE Grgn D) guam

15. Tdeue- STcishTiieh Tear Erefieraeh! 319 shivrT ?
A) AL TOT TSI FHT0! B) eI STUTR A
C) e TS D) E{STE e

PEEER AR AN AR EE NS #AE S WS MY
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16.

17

18.

19.

- 20.

23,

22+

23

Which is correct use of adverb ?
A) Honey is very sweet B) Honey is too sweet
C) Honey is so sweet D) Honey is much sweet

Which is correct use of preposition ?
A) She is married with rich man B) She married with rich man
C) She is married to a rich man D) She had married with rich man

She is working in an exclusive male dominate domain. How this sentence can be
written by removing gerund ? Select correct from following.

A) She work in an exclusive male dominated domain
B) She works in an exclusive male dominated domain
C) She worked in an exclusive male dominated domain
D) None of these are correct

Which is correct use of verb ?

A) My brother lived in Mumbai since 1930

B) My brother has lived in Mumbai since 1930
C) My brother is lived in Mumbai since 1930
D) My brother have lived in Mumbai since 1930

Name the correct clause bracket in the given sentence.

He is (much) obliged to you.

A) Noun clause B) Co-ordinate clause

C) Positive adverb clause D) Adverb clause of reason

Name conjunction from the sentence :
Ganesh does not care whether his wife goes out of home.
A) Whether B) His C) Out of D) Care

Complete the sentence by using a word from the following words : The cashier ____
the money and signed a receipt for it.

A) Collects B) Accepts C) Counted D) Receives

Choose the correct passive voice from the following sentences.
A) He was given a gift by Rita B) He gives a gift by Rita
C) He gave a gift by Rita D) He was giving gift to Rita
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24.

23:

26.

27

28.

29.

30.
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Choose the group of words which is most nearly the same in meaning as of the word :
Revolutionize

A) Affect adversely B) Develop gradually

C) Change drastically D) Illuminate completely

Nothing else travels so fast as light (Make comparative and choose correct answer)
A) Light is traveler than any other thing

B) Light travels faster than anything else

C) Light is faster traveler than nothing

D) Light is travelers faster as anything

Pick up correct sentence.

A) When the meeting been start ?

B) When the meeting would start ?

C) When the meeting will be starting ?
D) When the meeting will start ?

Choose the word from given words to fill in the blank to make the sentence meaningful.

No sooner he arrived then everyone  up in his honour.
A) Stood B) Stands
C) Stand D) Got

Rewrite the sentence by using proper conjunction.
Mohan was young, he went to Africa.

A) But Mohan was young, he went to Africa

B) When Mohan was young, he went to Africa

() That Mohan was young, he went to Africa

D) Hardly Mohan was young, he when went to Africa

Choose correct Tense form that is used in the following sentence.
We had been playing in the park.

A) Past perfect continuous tense B) Past continuous tense

C) Present perfect continuous tense D) Past perfect tense

Select grammatically correct sentence.

A) Karachi is Sindh’s seaport B) Karachi is the seaport of Sindh

C) The seaport of Sindh is Karachi D) The Karachi is Sindh’s seaport
~B-
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31. Wil i Hefia sfeus sfuer revE Hatee ST 7

A) 9TEE B) A&
C) 7 D) e
32. WM SRS T Sa7o7 fhed) 3maq 7
A) ¥o T#h B) ¢T&h
C) 23 TFh D) 3%k
33. AT THTIATET AT 318 G 7
A) TeRIf 3fdte B) AR fdtE
C) Tfem grERe D) AERH-aE-FERe
34. IATITIHE AT TSIRTHE gefi<ht gt B,
A) ST B) G
C) He=a D) Fdre
35. mmmmmmﬁéﬁ,m@mm‘ FHed
T,
A) IR B) hufiery C) WdeaH D) fiead
36. S LU TEIN + X —< T RYC R @ * >= AR T = * X < > AN PV G aeffaet 37 ?
A) ¥uc B) ¥4w’¢ C) ¥y D) YoluR

37. S I¥ x B = Y93 AND & x Y4 = 3§48 AT ¥ x 6§ = 2

A) \o¢gY B) be¢vg C) ¢wo¥g D) ¢&o¥
38. TS Al WIS FHTH Grefleriish! 10 el ST 7

A) TEHHG B) HIaT #g.

C) Jamiq. D) FdRs]

39. e, AeATEN f Wi TR IR, SFETET S SR BRI S 9t AT S
I =T ST ?

A) AN B) &m@u C) wrifd D) WS
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40.

41.

42.

43.

44,

010-44 0RO 0 K
Tt arere=n Ui faues @rcieish w1 g ?

A) & B) Jhd

C) fehgft D) wier

U Hiehfdeh WNd STAND 1 3166 FGNAQ 3781 fefdiett 318 at &= 9gdi TROLLY 21
yTee YT foraTet ?

A) GYSBYL B) GEBYYL
C) GBEYLY D) GEYBLY

QT Aifetehd THTCST 813 J1ehd THele! TEAT 3TieT,
8¢, QUY, 230, 8oL, ¢L, ¢ |

A) 2o B) %0¢
C) ¢ D) %

T ATYE ATE T foe Yoo ST S . SIS TS 9 el e areAT favie TR,
el e 99 ot

INREEL] B) g8
C) & D) ua8

WTeTe AT T e STl vt dea A5 ?

WRI3IIR1 Y

SR | Y e

Qo | ¢ | W | ?
A) & B) 2%&
) %R D) Re

45. ST APTITUDE = 4&%633 T 2EE %6033 RIS &Y ?

A) ALTITUDE B) ATTRIBUTE
C) ATTITUDE D) I Fwve! At
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46. SEEr=A STt 10T S8R GYE e 7

47.

48.

49.

50.

51.

2

e dYg ;  TNIE ;7

A) IR B) ©&a
C) avg D) @s¢
Iy e e mferest gof s,
Ro,¢0,8¢0, 7, 400, W0

A) %o B) 3%o
C) 30 D) 3oo
AR ST shivTt S A ?

7T ¢ 9 &Y Y 1§ sl

A) & B) 3
O 2 D) ¥

HSITRBIA 3, dTeTed HTed. qT8 sh1et ufve fewm arafyat, @ frfte srear) fireg fem o 7
A) I B) W

C) sféqor D) 3w

UshT Hiehicreh TS0 ALPHABETS BTY18% £ 3% 2UE ¢ T A8 ST HEALTH 13768 T
ferdida ?

A) ¥&RQ9Y B) ¥&%30Y¥
C) ¥&¥ey D) ¥&23wy
e SRR daia qiat eft
A) IR | B) #%d
C) &F D) T3 3T
TIeATeAdeh! HIvTeaT TS disres Ixfi=m 1T 2} ?
A) TR B) wie
C) Tt D)
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54.

55.

56.

S'ds

58.

59.

60.

010-44 0 OO O
Weierish ST U Bae=n AT 378 Faieard ¢

A) TERITEI e T B) wftEma

C) el D) Hewm

el T ST T SRS Siftie T 7T T 7
A) 3Y T B) SEHT AT
C) e ST oyt D) ST Yesd1

TS AT SHUATA UehUT 33 OIS STEATd. ATkl _ U HIG HEdT.
A) 9 B) dH

C) & D) 30

e SHfaRte afeet i € BIEd.

A) @i B) ehic

C) Uifereet D) TR
@reAterdsh! faea e M.

A) fEwe B) &

C) Afessn D) 9

RIS 7Tt S Serm WS 5 T SRS ST,

A) = B) {mt

C) wrehifersn D) HEEREA

g amEa.

INRIGEE B) fammoy

C) sifereta D) el

3,33, 333,... ATHAM o o1 e et cerreh) SO Sl T Ao Kt Tl SFehrell st
forcft Adw 7

A) %R B) R0
C) 28 D)

Al
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61.

62.

63.

64.

Porosities which develop in the casting when air is unable to escape from the mould
cavity

A) Shrink spot porosity B) Back pressure porosity

C) Hot spot porosity D) Cold spot porosity

T3S hioeIHYT BT ATet USUl I THeITH LT v TR 9 8 ?
A) #ieh waie TRk B) e USR A

C) Ble ¥ie I D) @ice e qrfedt

The only component of the clasp assembly which lies below the height of contour is

A) Rest B) Reciprocal arm

C) Stabilizing arm D) Retentive terminal
BT Il WTet STeted deied Sfisreli=a THia SeehTeTl i TRUMTd 7
A) & B) fwierer s

C) Claamsiin a1 D) e efiaa

For the gold alloys the distance of the wax pattern from the open end of the casting ring
should be

A) 6 mm B) 8§ mm
C) 10 mm D) 12mm
i s eTqEndt s frse e SehTaTe do Yertw) o7 fohelt sramren & 7
A) 6ot B) 8 fusft
C) 10 ot D) 12 fodt

The minimum distance required between the gingival margin and the floor of the mouth
for a lingual bar is |

A) 5mm B) 6mm
C) 7mm D) 8 mm
A) 5Tt B) 6
C) 7 fosft D) 8 fust
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65. The die spacer is applied

| 0T

distance away from the finish line of the die.

A) 0.25 mm B) 0.5 mm C) 1 mm D) 1.5mm
A) 0.25 fosft B) 0.5 fusft C) 1ot D) 1.5 finft

66. Inlay wax is
A) Corrective wax

C) Impression wax

B) Processing wax

D) Pattern wax

Tl el T TR 7
A) HFT T B) Wrain dam
C) $9vH D) e Fa
67. The pontic which has mucosal contact is
A) Sanitary B) Ovate
C) Peral D) Modified sanitary
Ui-dleh SATC BT IEe Haeh 78l R,
A) wfied B) 3lleee
C) W D) HiEihEe THed
68. Pickling of gold alloys is done by
A) Warm HCl B) H,S0, C) Cold Hf D) Sand blasting
HITT T SATHTSH I el ST 7
A) 391 HCl B) H,S0, C) 9s Hf D) d1&3 ShIeA
69. Wet strength of gypsum products is called as strength.
A) red B) blue C) green D) yellow
ToTem IeTEAT=AT ST Aesehd el B! 38 TEUIAT.
A) @ B) fe C) fewn D) fiaat

~J2-
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70.

i &

12.

73

74.

The finish lines of the dies are made more prominent for finishing the wax patterns by

A) Dimpling B) Ditching C) Pitching D) Patching
BESELERIE L] 3 g Yo T TS SR gaeid sa! 9d.
A) feraefin B) fe=fin C) fofin D) =i

Chemical used with the gypsum products to increase the setting expansion is

A) Citrates B) Potassium sulfates
C) Borates D) Ferric sulfates
Gt forean areavarandt e SeareAETed AToRTd AR WA 0 ¢
A) T2 B) TIifERm dethe

C) sz D) Hi%gehe

Lost wax technique was given by

A) Page B) Boucher C) Taggart D) Robert
e da9 a3 Fivft et ?
A) W B) sI$e C) Zmmé D) Teé

Inhibitor used in acrylic resin denture base material 1s

A) Hydroquinone B) Methyl methacrylate

C) Dibutyl phthalate D) Polymethyl methacrylate
Uhelteh T o o Tfecaaed) i gedieiet aToet Sd 7

A) BEIGEEIH B) fhrerget Hermshicie

C) AR Focie D) uichifiense faemhicie

Finish line of choice for full metal crown is

A) Bevel B) Shoulder C) Feather edge D) Chamfer

Ut €T GHETETS! FHT 191 H1vid] 7

INREES] B) @ial C) 1@ D) T
=13
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75. Packing of acrylic denture base resin is done at stage.
A) Sandy B) Dough |
C) Sticky D) Rubbery
hTelie S= 3 e i AT ZORATEAT el Q. |
A) e (F) B) %
C) fase D) @&l

76. Fabrication of dyes is done by using which gypsum product ?

A) Typel B) Type Il C) Type Il D) Type IV
SR Wl ahivre form Ieqre &t s ?
A) JFI ] B) &R 11 C) R 11 D) R IV

77. The angle between the proximal surface of the abutment tooth and the occlusal rest seat is

A) 90 degrees B) Less than 90 degrees |
C) 120 degrees D) More than 120 degrees ‘
Usgeie T 1o SAideguel 16 Hie are wiaeive qrbansie HI7 fHdt ?
A) 90 3791 B) 90 ST et
C) 120 3w D) 120 3{SIe S
78. Squint test is done for selecting of teeth.
A) Shade B) Shape C) Width D) Length
fehe 3w gramn /et  FragvamEd et s,
A) T B) 3R C) & D) et

79. Compared to dental alloys porcelain has

A) High ductility B) High hardness
C) Susceptible to fracture D) Low aesthetics
ST AT Ged TrdetTe

A) S faeeftdt B) SR ZUhquTT
C) Arevar=h G3esiiew D) &t T
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80.

81.

82.

83.

Porcelain bonds with metal with bond.

A) Chemical B) Mechanical

C) Physical D) Both A) and B)
uiqEled M ey 99 Sdam.

A) T B) i

C) +ifdeh D) A)37for B) gt
The height of contour of tooth is determined by

A) Undercut B) Non-undercut
C) Survey line D) Occlusal plane
FTATEAT TN I FHI Hreedt I ?

A) @ B) AH-3At@e

C) Hee A D) fegee <

The property of drawing a metal into thin wires is known as

A) Ductility B) Malleability
C) Soldering D) Welding
TG UTeied RS TGN 0TS TUTEHTCAT T FeUrdid ¢
A) sfrelidt B) Heldfarefiel
C) deetin D) Jegi
Rogue is oxide.

A) Tin B) Aluminium
C) Ferric D) Cadmium
Tl _ 3TaETES TR,

A) f&A B) TyfuHram
C) i D) gt
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84.

83.

86.

87.

010-44 RN R Illllllv

Missing unilateral posterior teeth belongs to which Kennedy’s classification ?

A) Class | B) Class II
C) Class III D) Class IV
et SR e 2 Sl e Fe i 4 7
A) @] B) @i II

C) = 111 D) & v

Complimentary colour to yellow is

A) Red B) Blue
C) Green D) White
TraeaTaTdt qieh T hivrr ?

A) A1 B) et
C) D) 9iet

Cross linking agent used with acrylic resin is

A) Glycol dimethacrylate B) Methy methacrylate
C) Hydroquinone D) Benzoyl peroxide
Ushiciish UG-TgIera AT JuTrT 3hie ferehin Ustee hivr ?

A) TIHIA SRHYTH IS B) fyum neurficie

C) TAGHHHA D) sFifgel TIRTEe
Which of the following is not a surveying tool ?

A) Analyzing rod B) Guide plane

C) Carbon marker D) Wax trimmer
@refieTdh! FHI0Td Hor HTOTR 76l ATel ?

A) TeTgEin e B) TMEE &I

C) e HTE D) dad Fm
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88.

89.

90.

O1.

92.

C - 010-44

The maxillary major connector used in case of palatal tori 1s

A) Complete palate B) Palatal strap

C) Lingual plate D) Horse shoe

deieel ST IETERUTAE AToRTe VTR Herefiertl Hor el Hivrd ?

A) e dete B) daied €U

C) fermerd wie D) ¥

The major connector should be

A) Flexible B) Elastic C) Rigid D) Semi rigid
TS FdR AR T4

A) TaHE B) QTR C) 20 D) 31t 2Tk
The process of removal of investment from the casting is :

A) Burnout B) Sand blasting C) Spruing D) Divesting
FHRII T groeeeHe HIGUATST Nihe il FEUrTd ¢

A) THIARRE B) esadin  C) TGN D) SRR
Direct retainers recommended for Distal extension partial denture is

A) Reverse circlet clasp | B) Circumferential clasp

C) Bar clasp D) Ring clasp

freet vamdy ursfre Suand fiere Foe grrae gt Sivid 7

A) froed etz wied B) GUHAHRRIRA Fed

C) IR FA D) foraeiea

The lightness or darkness of an object is called as

A) Chroma B) Hue

C) Value D) Saturation

ST BT fohe STeTuT RIS S 7

A) T B) ®

C) 99, D) H=wH

A




93. The zone of flame used for soldering is

A) Cold mixing B) Oxidizing
C) Partial combustion D) Reducing
At amm e g s,

A) Fice T _ B) ATafiEish
C) 374 g D) HI IR

94. Reciprocation in RPI clasp is achieved by

A) Lingual plate B) I-bar

C) Proximal plate D) Minor connector of mesial rest
ey wefer PHseReT e T 8id ¢

A) forgare wie B) 3R-aR

C) Wierfioet wie D) AR el A Wi &

95. The term “Arcon” was derived by

A) Bergstorm B) Bonwill
C) Hall | D) Monsoon
“areR @ YA 3Tt e ?

A) SR B) sHfa
C) & D) ARG

96. Time deoendent plastic strain of a material under static load or constant stress is

A) Flow B) Sag
C) Creep D) Viscosity
Tt A fofan shimeeme WA faia wTfecaT™ 21gH SRiuee wTfees & fohdl ?
INR L B) &m
C) v D) fewritad
-18-
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97.

98.

99.

100.

Irreversible hydrocolloids sets by _ reaction.

A) Gelation B) Chelation

C) Polymerization D) Crystallization
eI ERIGIhICTESH AR e B

A) Forrem B) <i¥H

R IITEICENE] D) FaEENH
Dicor restoration is

A) Heat pressed ceramics B) Feldspathic ceramic
C) Castable ceramic D) Two coloured restoration
[EEQIECTANE]

A) e v fatfiad B) thoeuieie i

C) Feead e D) 3 Tl A

The horizontal arm of which surveyor swivels

A) Ney B) Jelenko

C) Williams D) Wills

TR Efaey s TeaT 8 (efdti-aet 31 ) shivrar ?

NE B) Sici=hl

C) et D) faea

The sprue former should be attached at what angle to the wax pattern ?
A) 45 degree B) 90 degree

C) 120 degree D) Any angle

g T S e e e ST 2 7

A) 453 B) 90 3«

C) 120 3 D) VTl i
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